
Intermediate Algebra Skill 

Solving Polynomial Inequalities: Polynomial Expression Not Factored; RHS 0 

 

Solve the following Polynomial Inequalities: 
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1) 0

2) 2 8 0

3) 3 27 0

4) 5 80 0

5) 0

6) 16 0

7) 16 81 0

8) 32 2 0

9) 12 0

10) 2 15 0

11) 5 4 0

12) 2 35 0

13) 4 4 0

14) 2 9 18 0

15) 2

w w

w w

w w

w w

p p

p p

p p

p p

m m m

m m m

m m m

m m m

y y y

y y y

y y

− ≤

− <

− >

− ≥

− >

− ≥

− ≤

− <

− − ≥

− − >

− + <

− − ≤

− − + >

− − + ≥

− −2 1 0y + ≤

 

 

 



 

Answers to Solving Polynomial Inequalities: Polynomial Expression Not Factored; 

RHS 0 
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1) , 1 0,1

2) , 2 0,2

3) , 3 3,

4) , 4 4, 0

5) 1,0 1,

6) 2,0 2,

2 2
7) , , 0

3 3

8) , 2 2,

9) 3,0 4,

10) 3,0 5,

11) 1,4

12) 5,7

13) 2,1 2,

14) 3,2
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